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1.  a  b   ab=4  

  4 9b aa +ba b   

2.  x  y   
2

4 3 3 6
( 3 ) 27

( )

a b
c

- -=x y
x y x y

  

  a+b+c  

3.  x   5x-a(x+2)= 1
2 b+3x  

  a  b   
  a-b  

4.    
 0 1 2 3 

3.1 1.761 1.764 1.766 1.769 
3.2 1.789 1.792 1.794 1.797 
3.3 1.817 1.819 1.822 1.825 
3.4 1.844 1.847 1.849 1.852 
3.5 1.871 1.873 1.876 1.879 

   3.10 =1.761   
  28.89 =a.bcd   a.bcd   
  a+b+c+d   
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6. 
  

        
  
  3 : 1  600  
  
 
 
 
 
 
 
 
 
 
 
7.  ABCD  1   
   BD = BP  CA = CQ 

     
  P  Q  
   P  2   Q  4+ 2   
   P  2   Q  5- 2  
   P  1- 2   Q  4+ 2  
   P  2- 2   Q  3+ 2   
   P  3- 2   Q  2+ 2  
 
 
 
 
 
 
 
 

8.  6   

      
  
 
 
 
 
 
 
 
 
 
9.  4  
  50   
  
 (   
  3.14) 
 
 
 
 
 
 
 
 
 
10.  2 2( ) ( )+x+a x-b =6  x+a > 0, 
 x-b < 0  a-b=0 
  a*b 
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11.   A=250, B=340  C=530  
  A+B+C   
 
 
 
 
 
12.  A  B  
 
  A  

       
  

  
  a+b+c  
 
 
 
 
 
13.  
 
 
 
 
 
   AB   
  2   
  BC  
 
 
 

14.  
 
 
 
 
  ABCD  
 AH=DG=CF=BE=6   
  EFGH  40  
  ABCD  
  
 
 
 
 
 
 
 
15.   
  2,000   20%  
    
  320   
  
  
 
 
 
 
 
 
 
16.     30   
  1,168   
     5 : 7 : 3 
    
  9 : 8 : 15    
    
 
 
 
 
 
 
 

  A  B  a  
 

  A  B  b    
  30  

  c    
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17.  
  8    
   
  216   
  
  
 
 
 
 
 
 
 
 
 
 
18.   
    
    
   

   
           A             B 

  A  B   
  A 
  B   
 (   
  3)  
 
 
 
 
 
 
 
 
 
 
 

19.   
 10     

       
  1   
 
 
 
 
 
 
 
20.  4   1, 2, 3, 4  
  A, B, C, D   

         
  C 
  A  
  D  B  
   
 
 
 
 
 
 
 
21.  (a, b)    

 5-a
b    a  b   
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22.  
  

     
  
  
 (   
  3) 
 
 
 
 
 
 
 
 
 
23.  
 
 
 
 
 
  AOB   
  AB=OB  
  AB=24 2   
  A1OB1  
 
 
 
 
 
 
 
 

24.  ABCD  

  AB= 11
2 a    

 BC=5a   
   AB   
   V1  
   BC   
   V2  

  
2

V
V

1    a
b   

  a+b 
 
 
 
 
 
 
 
 
 
 
25.  
   
   
 45o   
   
  
   
 (   
 
  3) 
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26.   
  8  64    
 216    
   
  
  
 
 
 
 
 
 
 
 
 
 
 
 
27.    

         
 
  17  a  
  26  b  

  b
a  

 
 
 
 
 
 
 
 
 
 
 

28.   
  31.25% 
  1    
 62.5%  2  
  24% 
   
  2   
  
 
 
 
 
 
 
 
 
29.  3   
   
   
  
  45o    n   
  11n  
 
 
 
 
 
 
 
 
30.   a, b, c, d  e   
  a  b  c  d  e  
  a*b*c*d*e=a+b+c+d+e 
  (a*b*c*d)+e 
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